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Question Number : 5 Question Id : 7150535513 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 7150535514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 7150535515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 7150535516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 7150535517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 7150535518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 7150535519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 7150535520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 7150535521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 7150535522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 7150535523 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 7150535524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 7150535525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 7150535526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 7150535527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 7150535528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 7150535529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 7150535530 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 7150535531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 7150535532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 7150535533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A A1.E ATaiaw: 2009 T ATHHT FET AHETSHT ATFMT F ATAT
e faaeETtaey: 20 F997 AraE=T ATEe qad TEaera) TEeia]

Options :

L e { g ol w0 TR BE WE. ToE f<E

oJed ﬁﬂ?ﬁ.‘-",“'&f’.&'r»‘b émwc = TeTat ﬁﬁ 0000 s —S5en —:TC—E.:,_,,—.:.FE B0
= ]

ehn)

- THI TEATHA:

eoolBs 8RN Hbdn EAS0E @iDdS S0

[ 1

AT ATAFTAT Bl FINAT TATH F AT J T899

L

om
4. 36



3.
&P onen 00 YePoned EeS HBHER
ATTATTAT ATARTAT o TAF TIF STATATT

4. ®

Question Number : 26 Question Id : 7150535534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 7150535535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 7150535536 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 7150535537 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 7150535538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Language I Sanskrit

Section Id : 715053166
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715053274
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 7150535539 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 7150535540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 7150535541 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id

: 7150535542 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id

: 7150535543 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options :

Question Number : 35 Question Id : 7150535544 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 715053275
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 7150535545 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (36 to 40)

Question Label : Comprehension

A1 eIl Tarisl Tioeat TETaiva 36- 40 T faderreaa i<y Ao~ 397 f=ear fora|

T AT TR0 | Ao g GO AU Jeed: | A7 [EEgsT g
ST ATCATT THRESATT | T4, TR, T9ETq9: 7 T8 UF A0 | 72091 J0g: 54
TEIT: U A qTqATeq | 6T TR0 Aoz 107 729 A 778 #4001 7 95 7
TET: T30 | TS U7 00 | Fafaem: sy st afeemte = g 7 rar | a1
q e T U ATE: FETT JUHE FA | TH FA: A FAAA] (G219 AATIHET ToATH
=i | fafaats =7 Furfs = agwafta | 77 avad 99 aeeia 39t 96 A war
T A= 30 |

Sub questions

Question Number : 36 Question Id : 7150535546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
HAA: FEAT: WADHA 7 A7
Options :

Sﬁﬁq qT:

1. #



Question Number : 37 Question Id : 7150535547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
afeT i 7577 &= fFerar 1= &g 2

Options:

MREIECUE]

Question Number : 38 Question Id : 7150535548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

T AT AR IaT20 A+ ?

Options :

Question Number : 39 Question Id : 7150535549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

-

A HIEAA T2 fad (A7 [asi= 970 -

Options :

LEES!

1. %

ST
e



Question Number : 40 Question Id : 7150535550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Options:

Sub-Section Number : 3
Sub-Section Id : 715053276
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 7150535551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A=t gE AT 2 9o = o0 3fd w9 3612

Options :



CEIER L]

Question Number : 42 Question Id : 7150535552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ITHT, AAT7E, TEATTAAYG T THTACH : FET Tl AHTAIT?

Options :

qTo

oh &

Question Number : 43 Question Id : 7150535553 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Ters[TTe FEH” AETHAT ATTF: 7 -

Options:

EEIRIEE

Question Number : 44 Question Id : 7150535554 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

FYAFTAATHI T ATHTALH I -

Options :



Question Number : 45 Question Id : 7150535555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Options :

TETT =T

1. %

Question Number : 46 Question Id : 7150535556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘TEE:" S TH T "E FHEEE 78 A -
Options :

1. % fee:



Question Number : 47 Question Id : 7150535557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
“ArHRTH Taug a1 A -

Options:

2. ¥

A

Question Number : 48 Question Id : 7150535558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
s T Eaea 0 | EEgeE g9 -

Options :



sfrerg

Question Number : 49 Question Id : 7150535559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
TERS {2t STHHITHAA: A159H A q0d qF DISATHIL: -

Options :

| % SoHET

Question Number : 50 Question Id : 7150535560 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

T STERed TAHISTHAl [GaaaeTHIed -
Options:

1. % FHH

Question Number : 51 Question Id : 7150535561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

-

A=A -

Options :



Question Number : 52 Question Id : 7150535562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T E ---- AT ITAET (6772
Options :

1. TBA

2. % T

Question Number : 53 Question Id : 7150535563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Options :

S UF A



A
ST THed A dq
3. ¥

™ [
ST ILTd (e H
4. %

Question Number : 54 Question Id : 7150535564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

AFHTEHT I ST H ATeq

Options :

EREF

Question Number : 55 Question Id : 7150535565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
e forar gaaaTaTeTEaT = -

Options:



- HTHATETAT: A94T A SRR IRIETF

TSR AT

Question Number : 56 Question Id : 7150535566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

fereATiarTe MaaTAT (RTE) o4 209+ ATaH17: AT -

Options :

TSR SATITHTETHA ATET A

- ALAF FTCA T ATHT HIEAHT ATETH
- HTTATIT HIEAHT ATETeAH
. ATAATIT ATEAHT ATITAH

Question Number : 57 Question Id : 7150535567 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
: T9reAh: BTAT AT AT AT(gcd T(50 TLA (T &2 ZTAT -
Options :
TEATIO Hrerd A900q T=aiid |

T Fere TG Ta(d |

Question Number : 58 Question Id : 7150535568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AEAAT FET TS 157 ATHATETT FATH: JTANT: T AT ETFET L

Options:

TSI IEIRITH (Text Books)

1. %

5 HiezH =T F3~=%=7 (Multi Media computer)

2 % FT14 IF=FT (work sheet)



T5d 94149 (Realia)

Question Number : 59 Question Id : 7150535569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
e S =T 72 e A -

Options :

f;l ".;l o ]:l

GIEEE]

AT HHHATH

Question Number : 60 Question Id : 7150535570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ATATAT ToF - FA-ATT G- AT ATIHT = A THTRTTAT (2009) foramea=1 fiigs w4q?
Options :

- qTfE® T ZTeT feraTeaT aE8a



2. ¥

BTATAHAI (A - AT - A= A 2T (9

3, #

=TT FIATL ATTATTH: AT TS

Tt ' dfEr e foet v sraerdy

4,

Language II English
SectionId: 715053167
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715053277
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 7150535571 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (61 to 65)

Question Label : Comprehension

Read the following passage and answer the questions given. Choose the correct option

for each question.

Death 1s reported simply numerically-ten killed, three mjured. These faceless, nameless
dead seem non-human. It fails to arouse any deep feeling of loss or pain. The disasters like
the Bhopal gas tragedy. blast in Mumbai make us withdraw psychologically and resign
ourselves to the tragedy. The riots in particular cities have left people helpless. that 15, we
accepted death a reality to live with. If the reality seems threatening, the psychological
mechanism of denial is used: we say to ourselves it cannot happen in our city or to ourselves.
When tragedy strikes, the unconscious, sadistic and aggressive impulses are aroused in many
individuals. The gory details of tragic events are discussed clinically. news reports read and
compared. Many secretly relish such happenings and so discussions are held on them.
Though most will not consciously accept them, psychologists attribute such impulses to a
sense of 1rritation and depersonalisation which are common among city dwellers. This leaves

them immune to human sufferings.

Indifference to human suffering also stems from fear of law and the police. People shy
away from social responsibility due to the police and the law leaves people incapable of
being responsive to human misery. Fear of reprisals 1s another important reason why people
turn away from suffering. The attackers generally have helper of the victums as their targets

because they are out to destroy every trace of being 1dentified.

Sub questions

Question Number : 61 Question Id : 7150535572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What happens to the individuals when tragedy strikes somewhere?

Options:

Many never relish such happenings.
1. %



Most will consciously accept them.

o People will not shy away from social responsibility,

The unconscious. sadistic and aggressive impulses are aroused in many

4V individuals.

Question Number : 62 Question Id : 7150535573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
What fails to arouse any deep feeling of loss or pain?
Options:

Numerical reportage of victory

Numerical reportage of death

Numerical reportage of psychological impulses

Numerical reportage of Individuals issue

Question Number : 63 Question Id : 7150535574 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
What 1s common among the people living 1n cities?
Options :

1 % 8 mechanism of non-denial

a deep feeling of loss or pamn

a sense of irritation and depersonalisation

reaction to human suffering
4. %

Question Number : 64 Question Id : 7150535575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Why do people shy away from social responsibility?
Options :
due to their fear of law and the police

1.4

due to their busy life

3 % due to their own mental suffering



due to their conscious acceptance of the events

Question Number : 65 Question Id : 7150535576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means ‘retaliations’.
Options :

impulses

reprisals
2, v (EERERRE

tragedies

disasters

Sub-Section Number : 2
Sub-Section Id : 715053278
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7150535577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The main source of his problems is his inability cope with stress.

Identify the appropriate preposition to complete the sentence.

Options :
1 ¢ t

of

for

4 % off

Question Number : 67 Question Id : 7150535578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The good news 1s that more o1l deposits being discovered in the east coast
region.
Choose the appropriate word to complete the sentence.
Options :
1s

7 o are

where
3 %



3 Were

Question Number : 68 Question Id : 7150535579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The customer placed an order with list of items.
Identify the appropriate phrase/word to complete the sentence.
Options :

a exhaustive

> % the exhaustive

exhaustive

4. an exhaustive

Question Number : 69 Question Id : 7150535580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The player practiced hard he could not perform well.
Choose the appropriate word to complete the sentence.

Options :

S50



but

if

011

Question Number : 70 Question Id : 7150535581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Birds a feather flock together.

Choose the correct option to complete the sentence.
Options:

of
1. %

01l

3 % with

for

Question Number : 71 Question Id : 7150535582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Choose the appropriate verb form to complete the sentences.
A: When did you complete your Post-graduation?

B:1 Post-graduation in 2021,

Options :

have completed

had completed

completed

was completed

Question Number : 72 Question Id : 7150535583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Walking 1s good health.

Choose the correct option to complete the sentence.

Options:

1 = of

for



1o

off

Question Number : 73 Question Id : 7150535584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify grammatically correct sentence.
Options :

The thief had been arrested by the police.
1. %

The thief had arrested by the police.
2 %

The thief have been arrested by the police.

The thief has arrested by the police.

Question Number : 74 Question Id : 7150535585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The man 1s suffering cancer.

Choose the correct word to complete the sentence.
Options :

1. = with

5 % off

from

of

Question Number : 75 Question Id : 7150535586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.

I for the past two days.
Options :

1 % reads

5 % reading

3 % read

4 have been reading



Question Number : 76 Question Id : 7150535587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the statements (a) and (b) and choose the right option.
(a) The reporter asked the actress, “When will you finish your movie?”

(b) The reporter asked the actress when she would finish her movie.

Options :

Only Sentence (a) 1s correct.

Only Sentence (b) 1s correct.

Both Sentences (a) and (b) are correct,

Both Sentences (a) and (b) are incorrect.

Question Number : 77 Question Id : 7150535588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

Iand Ramu are childhood friends.

A B = D



Options :

A

Question Number : 78 Question Id : 7150535589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct question tag to complete the following sentence.

She hardly walks after the accident.
Options:

doesn’t she?
1. ®

5 % don’tshe?

do she?

does she?



Question Number : 79 Question Id : 7150535590 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the correctly spelt word from the given options.
Options :

comifttee

comimites

comunittee
3.¢

4 % committe

Question Number : 80 Question Id : 7150535591 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Dhont 1s many other players in the world.

Choose the correct option to complete the sentence,
Options :
the most successful than

1. %

more successful than
2.



more successful then

successiul than

Question Number : 81 Question Id : 7150535592 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the appropriate word to complete the sentence.

The company was taken by the rival company.
Options :

up

1. #

oOVer

in

4 % Ooff

Question Number : 82 Question Id : 7150535593 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose the correctly sequenced sentence.

been/ Ambassador/ has/ Sachin Tendulkar/ named the ICC Brand
Options :
Sachin Tendulkar has been named the ICC Brand Ambassador.

1.4

The ICC Brand Ambassador. Sachin Tendulkar has been named.

2 %

Sachin Tendulkar been named has the ICC Brand Ambassador.
3.

The ICC Brand Ambassador has been named Sachin Tendulkar.
4, %

Question Number : 83 Question Id : 7150535594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the one which is different in meaning.

Options :

Attend the meeting or else you will be fired.
1. %

5 If you attend the meeting. you will be fired.

Unless you attend the meeting. you will be fired.
3. %



If you do not attend the meeting. you will be fired.
4, %

Question Number : 84 Question Id : 7150535595 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the most acceptable form of subscription in Letter Writing.

Options :
v Yours faithtully

1.

Your’s faithtully

Yours® faithfully
3. %

Your's faithful

Question Number : 85 Question Id : 7150535596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Pick the objective of teaching English at Secondary level.

Options:

Write creatively and independently on general topics.,



Follow the instructions given in the target language.

Recite the small poems.
3 %

Write simple meaningtul sentences correctly.

Question Number : 86 Question Id : 7150535597 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This question 1s easy to frame but 1t 1s difficult to evaluate its answer.
Options :

Multiple Choice Question

1. %

Essay Type Question
2.9

Very Short Answer Type
3. %

Short Answer Type
4. ®

Question Number : 87 Question Id : 7150535598 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

These courses are intentionally designed to utilize both mn-person and online class time

to achieve effective student learning.

Options:

Online courses

Offline courses

Hybrid Courses
3.¢

Virtual courses

Question Number : 88 Question Id : 7150535599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
*Appropriate headline’. This 1s a feature of the following discourse,

Options:

Choreography

Debate



News report
3.¢

& Speech

Question Number : 89 Question Id : 7150535600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘To get students acquainted with the lives and deeds of great men and women.” This

spectfic aim 15 achieved through teaching:

Options:
Letters
1.
5 Biographies

News articles

Fiction

Question Number : 90 Question Id : 7150535601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The following skills can be developed through mock mterviews

Options :

Reading and Writing

Speaking and Reading

Listening and Speaking

4. % Listening and Reading

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Mathematics

715053168
4

Online
Mandatory
30

30

30

Yes

0
1
715053279

Yes



Is Section Default? : null

Question Number : 91 Question Id : 7150535602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 92 Question Id : 7150535603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A 38 woa Bwo e wos B Bibeso AABC €° tanB = 1 ®oni, sinBcosC =

-

AEH AABC Wed AHHT A T97 941d, T4 tanB = 1, 12 sinBcosC =

Options :

1.
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4, %

Question Number : 93 Question Id : 7150535604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 7150535605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 95 Question Id : 7150535606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 7150535607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
0°< 8 < 90" womi, cot? 8 + cot?* =

=0 < 8 < 907, @fg cot? 8 + cot* 6 =

Options:

cot2 8 + cosec* g

5 % cosec* @ + cosec? 8

3 % cosec® 8 — cosec* g



cosec* @ — cosec? @
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Question Number : 97 Question Id : 7150535608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 98 Question Id : 7150535609 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 99 Question Id : 7150535610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
logg 3 + log,, 0.0001 =
Options :

=5
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Question Number : 100 Question Id : 7150535611 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 101 Question Id : 7150535612 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 102 Question Id : 7150535613 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 103 Question Id : 7150535614 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 104 Question Id : 7150535615 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 105 Question Id : 7150535616 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 106 Question Id : 7150535617 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 107 Question Id : 7150535618 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 108 Question Id : 7150535619 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 109 Question Id : 7150535620 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 110 Question Id : 7150535621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 111 Question Id : 7150535622 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 112 Question Id : 7150535623 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 113 Question Id : 7150535624 Question Type :

MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 114 Question Id : 7150535625 Question Type

: MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 115 Question Id : 7150535626 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 116 Question Id : 7150535627 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 117 Question Id : 7150535628 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 118 Question Id : 7150535629 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 119 Question Id : 7150535630 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 120 Question Id : 7150535631 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Science
Section Id : 715053169
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053280
Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 121 Question Id : 7150535632 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 122 Question Id : 7150535633 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 123 Question Id : 7150535634 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 124 Question Id : 7150535635 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 125 Question Id : 7150535636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 126 Question Id : 7150535637 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 127 Question Id : 7150535638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Na,CO, + X HCl - YNaCl + H,0 + CO,
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Question Number : 128 Question Id : 7150535639 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

. & ~ =
- T g o 1 1 -
aJP O o] E._-J;.‘.l e

AT 0 T

Options :

3 =
1.4
(aren BO° DPNTTe ol #5338
. 3T U T a1 AAFT FAa9H

A R L e TV Y - Sy T T e
IBSNHTPTRe S0 o8y 9B HSNTTre o) #5335
(] J TR
e’ '



Question Number : 129 Question Id : 7150535640 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 130 Question Id : 7150535641 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 7150535642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 132 Question Id : 7150535643 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 7150535644 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

n

- ¢ i .~
O R g i R o b w R SRRV SR U 1 VY s P O
& 958gren @dogperr 5hande A0Y amrtres ttnand ol Th Sind w8 8B
—= [l & &}
o —-\L..,\ L ':\' At i i
P E 80 ©al00. 0.":‘,,-.“ oJ%10l OQED(. el oD PO0
g W -

TAT: TR 9T AHTET 39 T=aied, 97 A= ERsfis=ni assmafar awa w1,

TSI o, ‘Thaesy 31d 3=+

Options :

N
D,’E‘,_{‘ i

Snded gl

gg‘il i i| ii l‘q;nr;.___

Question Number : 134 Question Id : 7150535645 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

- T T
o o8they 5o s0diieD hﬁo::m,

= My =

Foged faegfaef=r 79 =ra

-

Options :



T
aJENS

1 A
28
HTH .-c?i:
2. %
o0en
&
4, w MR

Question Number : 135 Question Id : 7150535646 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 136 Question Id : 7150535647 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 7150535648 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 7150535649 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 139 Question Id : 7150535650 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 140 Question Id : 7150535651 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 141 Question Id : 7150535652 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 7150535653 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 7150535654 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 144 Question Id : 7150535655 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 7150535656 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 7150535657 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 7150535658 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 7150535659 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 7150535660 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 7150535661 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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